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31 Conductinga __ experiment seems to be trekking on an uncharted territory, since nobody has done it before.
&) digital B fata ©) pilot (D) sturdy

32 To prevent further conflict, the two team coaches were forced to to stop the athletes from coming to blows.
A stepin (B) step down © get behind (D) get over

33 Emily has such a charismatic personality that she’'sthe sort of personwho _ inacrowd.
(A) passes out (B) makes out (©) stands out D fills out

34 ThePrime Minister stepped downinthe _ of aserious political scandal.
A bias (B) cost © task (D) wake

35 Tawan'swiderangeof wildlife __ and national parksis perfect for travelers looking to immerse themselvesin
natural beauty.
) exploits (B) hazards ©) habitats (D) shrines

36 Joy isan animal lover and has __ herself to volunteer work that helps save and protect endangered animal
Species.
(A) generated (B) dedicated ©) formulated (D) suffocated

37 Chuang Tzu's _ are famous in Chinese culture, both as works of intrinsic literary merit and as pithy

expressions of Taoist philosophy.
(A) anecdotes (B) chronicles © errands (D) parables

ST B E 5 38 S 42 7

There’s no question that taking care of the elderly and frail will incur huge costs, stretching already overburdened
pension and health-care systems. But with people living longer and continuing to contribute productively to society, we
need to recalibrate just what we mean by old. In Japan, for instance, more than a quarter of the population is currently at
the age of 60 or older, a figure that's set to reach 42% by 2050. However, many of these folks are hardly sitting idly at
home. One in three Japanese aged 60 or over is still part of the labor force. Keeping older folks employed is particularly
important because by mid-century, saysthe UN, the world will have more elderly people than children. By 2050, nearly a
third of the developed world's labor force will be aged 50 or older. Many elderly are spending more, too. While a good
chunk of their savings will be needed to fund longer retirements and higher health payments, older people have
considerable purchasing power. Britons over 50 years of age, for instance, control 75% of the country’s wealth.
Businesses catering to a so-called silver economy are booming, offering everything from elderly-friendly housing to trips
for retiree globetrotters.

With the older generation controlling so much of the world’s money, it's hardly fair to dismiss senior citizens as an
inevitable burden on society. “Many Japanese are living so long, it's like they’ ve been given second lives,” says Toshiko
Katayose, editor of a Tokyo magazine. “They’re doing everything with energy: working, turning kimonos into cool
patchwork designs; even doing math drills to keep mentally fit. ”

38 Which of the following is the main idea of the passage?
(A) The older generation can still contribute to society.
(B Elderly people in Japan are considered a burden on society.
(© Programs to help senior citizens have been overlooked.
(D) Rich and old people in Japan refuse to retire at the age of 50.
39 Which of the following statements is true?
(A) More than 40% of the population in Japan is older than 60.
(B) One out of three Japanese aged 60 or older is still employed.
© 75% of the wealth in Britain isin the hands of those older than 60.
(D) In order to save up for health payments, old people tend to spent very little.
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40 What does the author think of the elderly?

(A) They are an inevitable burden on society.

(B) The government has to do more to ensure their welfare.

© They haveto rely on their children for necessities.

(D) Many of them are living with great enthusiasm.
41 What doesthe word “recalibrate” in the first paragraph mean?

(A) Restart (B) Reapply © Redefine (D) Review
42 What does the phrase “retiree globetrotters’ in the first paragraph refer to?

(A) People who are reluctant to retire.

(B) Old people who are seeking housing.
(©) People unwilling to spend alot of money on traveling.
(D) Retired people interested in traveling around the world.

AT S [EI B 5 43 RE 5 46
Y ou forgot where the car was parked at the airport yesterday. The name of that old boyfriend or girlfriend
is 43  your tongue—but what is it? Your memory is terrible. Or so you think. But common sense tells us that
forgetfulnessisvital to a healthy brain by clearing our minds of decaying memories.

Today, a small band of scientists are trying to discover how and why the brain chooses to erase certain memories.
Their aim isn’'t to increase our ability to remember, _ 44  are they researching some kind of evil memory-erasing pill.
What interest them is the prospect of helping people get rid of the unwanted memories that, researchers are discovering,
can _ 45 menta illnesses such as depression and mental disorder caused by an unpleasant experience.

If you can’t remember what you had for breakfast, it's probably because your brain never bothered to encode the
information. Also evidence suggests that the brain naturally suppresses unwanted memories. In at least some cases,
forgetting is not a passive process of decay, _ 46  an active process of governing and controlling.

43 (A onthetip of (B) from the top of ©) inthe front of (D) at the edge of
44 (A dso (B nor © but D) or

45 (A contributeto (B result from (© come up against D) reflect on

46 (A instead of (B) in addition to © but rather (D) other than

AT X EE S 47 BEE 50 /E

While the merchants of Europe were looking for a sea route to India and the Far East, the admiral Cheng Ho set
out from China to travel west. He took with him a huge _ 47  that included 62 treasure ships and 250 smaller
vessels. He made seven journeys across the China Sea and the Indian Ocean, visiting thirty countries and gathering
information about _ 48 . Their vessels carried up to 30,000 people, including doctors, translators, merchants,
craftspeople, and priests. The ships stayed at seafor months _ 49 . On his seventh voyage, Cheng HO's ships sailed
a distance of over 12,600 miles. In the journeys, they knew more about keeping healthy at sea than the Europeans did.
Cheng HO's _ 50  grew vegetables on board, and doctors |looked after the sick. Nevertheless, the journeys were full
of hazards, and many people did not survive them.

47 (A fleet (B flesh ©) flock O fluid
48 (A that (B them ©) then (D) there
49 (A at atime ® intime © ontime (D) over time

50 (Acrew B)crib ©crop (Dcurb



P15k AT E B %

Yk e

LAk

~c

o g

Bk

L

T E R E Y (40 EAFEEE

IOSEg%Kﬁﬂ?{L

201032 R T EMEA R AT

P

e ) (GRERE

12201

H F A8 ¢ 504L H i E agpe A 0 2. 004

AF E AT A iE S AL fe

wEE R

MR S1AT | $28T | $38T | $4% | S5 | $6AL | $TAL | $8A | H9% | ¥104T
% D B B C C C A C B C
M| % 114T | %1240 | %1340 | $ 1441 | $154L | $164T | % 74T | %1847 | %1948 | % 204€
% B A D A C C D B D C
AR | $21T | $224T | %234 | ¥ 244 | ¥ 254 | $264T | $OTHL | $284T | $20%T | ¥304T
% A A B C A D A D A B
35| $314E | $3240 | $338T | $343T | $354L | $364T | $37AL | $38%T | $39% | $404T
£% C A C D C B D A B D
AR | $A1RT | $428T | $433T | S 4430 | $A5AL | $AGAE | $ATHL | $484T | $49%T | ¥504T
$% C D A B A C A B A A
35| $5140 | $524L | %538 | $544T | $554L | $564L | $57AL | $584T | $594E | ¥604L
R

35| 61T | %6240 | $634L | ¥ 644 | $O5AL | $O6AT | HO6TAL | $684T | %694 | ¥704L
‘:‘:;,—%T

ME | STIAE | ST24L | ST3AL | $T4RT | $75RE | S 64T | S 77T | $784T | $79% | %804
R

35| 81T | %8241 | ¥ 834 | ¥ 8441 | $ 85T | $86AT | $8TAL | H884T | 4894 | ¥904L
‘:‘:;,—%T

AE | $O14T | $924T | ¥ 033 | ¥ OAAT | $O54T | $O64L | $OTAT | 98T | %994 | % 1004T
£k
I




